-114



511

Pl
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1.2.1

5.2.1
5.2.1
522
523 525
511
5.2.6 () (8)
(1) (8
1.0 3.0
= X =2.0 6.0
5.2.7 (1) (6)
(1) ()
1.0 3.0

-116




-117



5.2.2

(@)

3)

e Vs L
Z—
(1)
(2)
(3)
(4)
(9
(6)
(7)
(8)
(1)
(2)
(3
(4)
(5
(6)
523 525
5.2.6
5.2.7

-118




5.2.3

-119




524

0.1

pH

-120




524

THV

-121




524

-122




525

-123




525
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5.2.6

(1)

(2)

(3

(4

(5

(6)

(7

(8)

527

(1)
(2
(3
(4
(5
(6)

-125




5.3

53.1

53.1 533

| hi6

1p 100V 50Hz H1

45Kw  90Kw H1

S51

555

1,000 m?3 545

Nk kNN N

545

50
80 5

53.2

hl6

562

7 562

100

-126




5.3.3

S A2 16
A2 1965
A2-1 2mx 2mx 1,700 1965
A2-2 @ 1200mmx 2 1,800 1965
A2-3 3mx 3mx 1,200 1965
A2-4 @ 1000mmx 2 1,500 1965
A2-5 2700 3/ x 44 x 330 1965

1,460 3/ x 44 x 180 1965
2-1, 2-3

2-5 )

2-5 )
1,700m

90 93
37,600,000 0
2,888, 000KW 0 KW
23 25 3
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534 536

53.4
| | hi6
1) 2) 3)
3 3
3 3
3 2 2 2
3 2 70
12 11 10
(1) 3 2 3
(2) 3 1 1
(3) 2 2 1
(4) 3 3 0
(5 2 2 3 2
(6) 3 3 3
% 2 0 7)) 2
(8) 3 2 1
21 22 11
(1) 3 3 1
2) 3 3 3
(3) 3 2 1
6) 2
(4) 2 2 2
(5) 2 3 2
(6) 2 9 6
15 22 15
48 55 36
17

-128




53.5

| hi16
1) 2) 3)
2
2
9 10 12
(1)
(2)
(3) 2
(4)
(5 (7) 3
(6)
(7)
(8)
28 26 19
(1)
(2
(3) 2 %) 2
(6) 3
(4
(5) 2
(6)
17 17 14
54 53 45
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53.6

S A A2 | 16
2-1, 2-3
(1) 2 3)
3
2
1
0
CO:> CO:>
100 100 7
(1) 3
2
(2) 1
(3) 0
(4)
(5) (7) 2
(6)
(7) 4
(8)
8 5
(1)
2 3 YES
0 NO
(3)
(4)
(5)
(6)
52 56 35
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